M10x30 - 2x

M12x30 - 4x
M12x70 - 2x (A)
M12x90 - 2x (1)
M12x19 - 3x (C)

M12x21 - 1x (C)

> ~ PP10-2x

N MI2-6x (A, |
M12-4xfc:j] PP12- éx (A, 1)
PP12- 8x (C)

P10

Q)

- 2%

M8x28 - 8x
ORIGINAL

MI12x19 - 3x
MI12x21 - Tx

MI12x90 (10.9] - 2x
| 110 Nm!

IC 400 123

MBx28 (10.7) - 4x
30 Nm!
ORIGINAL

M8x28 (10.9)
30 Nm!
ORIGINAL

- 4x

OPEL ASTRA, VAUXHALL ASTRA, PEUGEQT 308
Kod: O0755(A.1.C) 2. 12. 2022




